
Time: 35 Minutes Paper Math 6 (T-1) Total Marks: 25

4th Month, 2nd Week, 6th Day Revision Test (2nd Week)

//// Answer the following questions: ÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX ŠŠŠŠgggg̀`̀̀ffffssss

Q.1. The area of a parallelogram is 126 cm2 and its perpendicular height is

9cm. Find its base. Also calculate its perimeter.      (1x5=5)

vvvv¢¢¢¢aaaaììììXXXXZZZZkkkk»»»»‡‡‡‡°°°°{{{{¥¥¥¥xxxx™™™™,,,,XXXX2222ZZZZkkkk»»»» 9 %%%%,,,,vvvv¢¢¢¢aaaaììììZZZZzzzzggggZZZZkkkkÅÅÅÅÀÀÀÀŠŠŠŠ~~~~QQQQzzzz™™™™ðððð 126 ááááZZZZiiii~~~~ZZZZHHHHqqqq»»»»ggggKKKK
ZZZZqqqq©©©©ÌÌÌÌ¥¥¥¥xxxx™™™™,,,,XXXX

Q.2. The height of a triangular garden is 55m and base is 90m. Find the

number of flowers in the garden if 20 flowers are in the area of each

square metre.     (1x5=5)

¢¢¢¢aaaaììììXXXX!!!!****rrrr~~~~YYYYßßßßVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ¥¥¥¥xxxx™™™™,,,,XXXXZZZZ¤¤¤¤////CCCCÙÙÙÙ%%%%,,,,¢¢¢¢aaaa~~~~YYYYßßßßVVVVÅÅÅÅ 90 ¢¢¢¢aaaaZZZZzzzzgggg‡‡‡‡°°°°{{{{ 55 ZZZZqqqq----ÀÀÀÀ!!!!****rrrrÅÅÅÅMMMMðððð

ƒƒƒƒXXXX 20 ®®®®ZZZZŠŠŠŠ
Q.3. The parallel sides of a trapezium are 25cm and 30cm and its area is

192.5cm2. What is the height of trapezium?     (1x5=5)

%%%%,,,,vvvv¢¢¢¢aaaaììììXXXXffffzzzziiiiÞÞÞÞÅÅÅÅ 192.5 vvvv¢¢¢¢aaaa÷÷÷÷XXXXZZZZkkkk»»»»ggggKKKK 30 vvvv¢¢¢¢aaaaZZZZzzzzgggg 25 ffffzzzziiiiÞÞÞÞÅÅÅÅááááZZZZiiii~~~~ZZZZHHHHqqqqÅÅÅÅMMMM××××VVVV
QQQQzzzz™™™™ðððð¥¥¥¥xxxx™™™™,,,,XXXX

Q.4. A trapezium has a longer base that is 25cm and the height is 5cm. The

area of trapezium is 200cm2. What is the shorter base of the

trapezium? (1x5=5)

%%%%,,,,vvvv¢¢¢¢aaaaììììXXXXffffzzzziiiiÞÞÞÞ»»»»ggggNNNN****ggggKKKK 200 vvvv¢¢¢¢aaaaììììXXXXffffzzzziiiiÞÞÞÞ»»»»ggggKKKK 5 vvvv¢¢¢¢aaaaZZZZzzzzggggQQQQzzzz™™™™ðððð 25 ffffzzzziiiiÞÞÞÞ»»»»MMMM‡‡‡‡°°°°{{{{
¥¥¥¥xxxx™™™™,,,,XXXX

Q.5. Identify the altitudes of the given figures.     (1x5=5)

ŠŠŠŠ~~~~ˆ̂̂̂££££zzzzkkkk,,,,~~~~ZZZZgggg····qqqqÅÅÅÅÙÙÙÙ||||####™™™™,,,,XXXX
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